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Quant Mega Quiz for SSC CGL Tier - 2 (Solutions)

S1. Ans.(a)
Sol.

All triangular field are equal in Area

Area of AABC B 4

Area of ADEF 1

S2. Ans.(c)
Sol.
ATO -
Area of park = (120 4+ 80 — 24) X 24
= 4224 m*
S3. Ans.(d)

Sol. The circumference of the front wheel is 30 ft and that of the rear wheel is 36 feet.

Let the rear wheel make n revolutions. At this time, the front wheel should have made n+5 revolutions.
As both the wheels would have covered the same distance, n*36 = (n+5)*30

36n = 30n + 150

6n = 150

n=25.

Distance covered = 25%36 = 900 ft.

Complete Preparation for

S4. Ans.(c) SSC Exams
Sol. Folded part as shown in the first figure is a triangle - a right

triangle.

o SSC
Aaams B EXTREME

The two perpendicular sides of the right triangle measure 6m each. Video CoursBes,Jest Series,
So, the triangle is a right isosceles triangle. puoone
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When unfolded the folded area becomes a square as shown in the following figure.

Gm

Gm

The side of the square will be the width of the larger rectangle and is therefore, 6m.

Area of the square = 6 * 6 = 36 sq.m

When folded, only the area of the right triangle gets counted.

However, when unfolded the area of square gets counted.

The square comprises two congruent right triangles.

In essence, when folded only half a square is counted. When unfolded the entire square gets counted.
The area of the rectangle when unfolded = area of the rectangle when folded + area of half a square.
So area after unfolding= 144 + 18 = 162 sq.m.

S5. Ans.(b)
Sol. A circular road is constructed outside a square field. So, the road is in the shape of a circular ring.
If we have to determine the lowest cost of constructing the road, we have to select the smallest circle that
can be constructed outside the square.
Therefore, the inner circle of the ring should circumscribe the square.
Perimeter of the square = 200 ft.
Therefore, side of the square field = 50 ft
The diagonal of the square field is the diameter of the circle that circumscribes it.
Measure of the diagonal of the square of side 50 ft = 50V2 ft.
Therefore, inner diameter of the circular road = 50V2.
Hence, inner radius of the circular road = 252 ft.
Then, outer radius = 25V2 + 72 = 32V2
The area of the circular road
=Tro - Tri, where ro is the outer radius and ri is the inner radius.
=2 % {(32v2)? - (25v2)%}
= ¥x2x[32 + 25 )%[32 — 25)
= 2508 sq. ft.
If per sq. ft. cost is Rs. 100, then cost of constructing the road = 2508 x 100 = Rs.2,50,800.

Cost of constructing 50% of the road = 50% of the total cost
250800

—=Rs.1,25,400
S6. Ans.(b)
Sol.
A
1 2
B F
6 3
C E
5 4
D
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A regular hexagon comprises six equilateral triangles - each of side 2 m, the measure of the side of the

regular hexagon - as shown above. The 6 triangles are numbered 1 to 6 in the figure shown above.
BX is the altitude of triangle 1 and XF is the altitude of triangle 2.
Both triangle 1 and triangle 2 are equilateral triangles.

1 2
L S F
6 3
c E
5 4
D

Hence, BX = XF = ? X2 =13
Therefore, BF, the length of the rectangle = 2 V3m
Hence, the area of the rectangle BCEF = length * width = 2 V3 x2=43 50.mM

S7.Ans.(d)

Sol. Let the radius of the circle be 'r' units.

The circumference of the circle will therefore be 2 mr units.

If the radius is increased by 'x' units, the new radius will be (r + x) units.
The new circumference will be 2 t(r+x)=2 nr+2 mnx

Or the circumference increases by 2 mx units.

S8. Ans.(b)
Sol.

Total cost of fencing per metre =Rs. 2+ 1=Rs. 3

Length of fencing required = Perimeter of the rectangular field
= 2 (Length + Breadth)

=» Length of fencing required = 2 x (100 + 50) = 300 metre

=> Amount paid to the contractor = Rs. 3 x 300 = 900

=> Amount paid to the land authority = 10 % of Rs. 900 = Rs. 90
Therefore, total cost of fencing = Rs. 900 + 90 = Rs. 990

S9. Ans.(b)
Sol.
ATQ,
, 158400
mr< =——=r*= 36
1400
r=6tm
$10. Ans.(a)
Sol.

Each side of a square =23
Length and breadth=1&b
4a =2(1+b)
(1+b)
a =
2
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Area of rectangle==1xb
Area of square = a® = %(l +b)?

But since we know that —
AM = GM

1+b
——>11b
2
14+ by?
(25 o
2
Area of square > Area of rectangle

S11. Ans.(c)

Sol.

Volume of larger cube = (3] + (4 + (37
=27+64+ 125

=216

a*=216

a==6fcm

side of larger cube =6

total surface area of larger cube = 6a*
=6 = (6)

=216

Total surface area of smaller cubes
=6x(3P+6dP+a65)7
=fx9+6x16+6x23
=34+96+ 130

=300

Fatio =300 : 216

= 25:18

S12. Ans.(c)
Sol.
Let h be the light of water level

Volume of water = nrh
=n(3)*h

= Onh

Let h, be the height of water level after dropping a sphere TEST SERIES
Volume of sphere = mrth) — wr’h

4 3
ET[I' = 91th; — 9mh

4
EXT[X 1.5% 1.5 % 1.5 = 9n(h; —h)
_125x 4

~ o0 (MM
500
hy —h=——
1000
h,; —h =% 59 Total Tests | eBooks
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S13. Ans.(a)
Sol.

Let radius of sphere be r

Volume of sphere = gmj

Length of cylindrical wire = 4m
Let radius of cylindrical wire — ry

2r =10 x 2ry

r
I."J_=—

10
Volume of sphere = volume of cylindrical wire
4
—nr® = mrih
3

¥

4 3 r-
—mr®* =nXx —h
3 100
4 3 r’
—mr=mxXx—xh
100
3
=—m
100
3
= —x 100cm
100
=3 cm
S14. Ans.(a)
Sol.

Volume of outer dimension of box

=52 = 40 = 29 cm?®

=60320 cm®

Volume of inner dimension box

= (52 — 2=2) (40 -2x2) (29-2)

=48 = 36 = 27

= 46656

Volume of open box = 60320 — 46656 = 13664
Weight of the open box

= 13664 = 0.5g

= 13664 X kg

10000
=6.832 ke

S15. Ans.(a)

Sol.

Volume of sand in cylindrical bucket
=mr’h

=m = (21 =36

=m = 441 = 36

=441 = 36 m cm®
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Volume of conical heap = %nrz h

= E nr*h
3
= %'m'2 x 12
=4dmur
Volume of sound in cylindrical vessel = volume of conical heap
441 = 36m = 4mr?
r=21=3
=63 cm

S16. Ans.(b)
Sol.

In radius of hemispherical bowl =4 cm
Thickness =05 cm

Outer radius of hemispherical bowl =4 + 0.5 cm
=45cm

Volume of hemispherical bowl = %T[{R? —RY)
2

= 2ni(as) — (@)
2

= ;91125 - 64]

2
= En[zzf.us.]

2 22
=—-X—x27.125
3 7

2
=§D-< 22 X 3.875

=56.8383 cm?
~ 56.83 cm®

S17. Ans.(d)
Sol.
Length of open box 48 — 16

=32 cm

Breadth of open box =36 - 16
=20cm

Height of open box = E cm'
Volume of open box =32 =< 20 = §
=5120 cm?®

S18. Ans.(b)

Sol.

£+b+h=1%cm (1)
diagonal = 11 cm

Ve +b2 +h2 =11
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£2+b*+h?*=121m? .(11)
squaring both sides on (1)

(E+b+hyP=(19)

£2+b2+h?+ 2 (fb+bh+ £h) =361 . (111)
from (1) & (11)

121 + 2 (Eb + bh + £h)

=361

2(fb+bh + £h) =361 - 121

Total surface aera of cuboid = 2(£b + bh + £h)
=361-121

=240

Cost of pamnting = 240 = 10

= 2400 Rs

S19. Ans.(a)
Sol.
Let the height of room be h
Area of four walls = 2h (£ +b)
_340.20

2h(f +b) = 13t

2h(f +b) =252 m*

h({ +b) = 126m?
area of floor={ = b

9.80
fxb="m?
0.85

£ xb=108
£=12m
108

b=——=9m
12

h(f+b) =126
h(9+12)=126
hx21=126
h=6m

S20. Ans.(c)
Sol.

Volume of cylinder = nir*h
4.5\
=m (—) x 10
2
10 Y
= X (4.5)" x ™

. 2
Volume of coin = nir*h

(1.5)% _—"
x (0.2) ENGLISH
14—D><{4.5}2><rr

BY
No. of coins required = m NEETU SINGH

_ 10x45x45

T 1.5x 1.5 X% 0.2
=450

=mmx
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S21. Ans.(b)
Sol.

~ AD =AB + BFand AE=AC+ CF
s~ AD + AE=AE + BF + CF + AC
ZAD=AB + BC+ AC

S22. Ans.(a)
Sol.

Area of ABDG = ;—;:-c area of AABC

Area of ABDG = éx 72 = 12 sq.cm

S23. Ans.(c)

Sol.

If distance centre of circle is ‘d’
CD=/d? — (r, +m)?

24=/d2— (5+5)°

24 =+/d? — 102
d? = 24% 4+ 10°
d=26

ﬂB:JdZ —_ {'i"'l _rgjg
AB=,/262—(5—-5)2 =26

S24. Ans.(a)
Sol.

Let centre

Ofcircle=0

AB and BC are tangents of circle inscribed.
~OP L ABat Pand 0Q L BC at Q OP = 0Q = (radius of circle)

~ OPBQ is a square
LetOP=PB=BQ=0Q=r
~ OB =12
BR=r+r2=r(y2+1)
cr(WEI+1) =1

r=—t =(yz-1)

T VT4
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S25. Ans.(d)
Sol.

Given, PQ = 25 cm

PA=15cm

QA =20cm

Area of triangle APQ =% ® PQ X AC

And also area of AAPQ = %X PA x PQ
(~ AAPQ is aright angle triangle)

=}%PQ)<A-£'=%><15>{ZD

15x20
AC=
25

AC=12
~AB=2AC
AB =24 cm

S26. Ans.(c)

Sol.

ABCE and ABAM are similar because of AM || CE
BEC BA

"CE AM

10 5
—=—=AM =9 cm
a8 AM

Now again AAMC is similar to ADNC because of DN || AM
AM B DN
T AC  DC

9 15 225
—_— = —=DC = ——
15 DC 9

DC =25 cm

S27. Ans.(d)
Sol.
= XY || AC
- ABXY and ABAC are similar
Ratio of areas = square of ratio of sides
Area of ABXY = area of ABAC
Area of (ABXY) 1

" Area of (ABAC) 2
1

BX (1)2T
= —=|-
BA \2
BX 1 AX +2-1
- LA

BA 2 AB 32
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$28. Ans.(c)
Sol.

Length of each side = % (P, + P, + P3)

2
=—(6+8+10
JE( )

161,"'5 cIm

$29. Ans.(d)

Sol.
A

B C
AB=6cm, AC=10cm
BC = AC? — AB? = /102 — 62
BC =8 cm
A ANB is similar to ABNC
N = ABXBC 6x8

AC 10
EN =4.8 cm

AN 6
"BN 8

_ 6X4.8

T8

AN=36=NC=10-36=NC=64
AN:NC=3.6:6.4
=9:16

S30. Ans.(d)

Sol.

ZAED = 180° — 105°

LAED = 757

s~ ZAED = #ABC and #ADE = #ACB

- AADE is similar to AACB
AE _ AB

ek SSC CGL
NN TIER-II MAHA PACK

6 Months Subscription

AB = 18cm Test Series, Live Classes,
Video Course, Ebooks
Bilingual (with e-Books)
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